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What does "learning style” refer to in education?
AH Dowogoi) egrgddd OBMTHD

Options:

The innate ability to acquire knowledge.
@;@Qi‘éé} FaTees ﬁu@ggm

1. %
The cognitive capacity for critical thinking.
&‘é}éﬁ*mﬁ &S5 @fer %vé}géa’m
2. % &
The personal approach to learning and processing information.
©EIERENN, Jarardsn Bran ootk ettt é@éﬂj«:ﬁé:ﬂ
3.¢

The teaching methods used by educators.
803 % aeth s é%e‘_ﬂ}@a
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Correct Marks : 2 Wrong Marks : 0

How can a positive learning environment enhance the learning process?
iﬁmé&é g areradnin, @gr (DIBahih Jéy ehBo S0508

Options :



By discouraging collaboration among students.
S}mﬂéﬂﬁg&} S0 SrerTeR)) AETEHBe

By providing limited access to resources.

5 % HHHOB 5B (HSIE0D ©oBoHE

By fostering motivation, engagement, and creativity.

(@883, DS, DETrEES DosrooHe
3.¢

By imposing strict rules and regulations.
BRI Vahdh Daodhdesh Hothe
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What is a key principle of learner-centered methods?
wgfhodarR) Solfg)s B Sof e

Options:

Passive role of students in learning.
. SRS Dorgiie apaires)E oS

Teacher's responsibility to memorize all content.

. 0o FEEodHn HBODEEE® HEHR args
2.



Focus on adapting to individual student needs.
Tl Vape ©HITONDNH00D) Ha

3. ¢

Strict adherence to a standardized curriculum.
[ErSrdE arorgodEintd EBSorr Etnal soth
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What does SWAYAM stand for?
oo @03 ?

Options:

1 % System for Web-based Assessment and Youth-oriented Monitoring

Study Webs of Active Youth for Advanced Learning Management

v Study Webs of Active-Learning for Young Aspiring Minds

Sustainable Web-based Academic Yearly Assessment and Management
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What is the primary purpose of a Learning Management System (LMS)?

afressirddy ;’i:’g?} 36{:%%3&.}636 ANE:V ﬁé%%ﬁj&b 7

Options :

To manage financial transactions for educational institutions
_— ST ﬁo*’%}}e_}.’é} @gé Sgsdeiroren JEerothés

To facilitate communication between students. parents and teachers

5 % E}mﬁgd]m@ &8 &o(then, Ecﬁvmﬂédﬁm@ S0gig arden hegfo Bc50e

To create and deliver online courses, manage content, and track student

progress
©O80 Eﬁtﬁa;ja}eéj, $a0d DD, aroegoddn DEeroh, oo HEKa9
H0B0ohed
3. . —
To replace traditional textbooks with digital resources
FeoHrcHE SeBpHNESseR Edben SHHoS® 36 Johne
4, %
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Which type of research aims to explore new theories and ideas to generate
hypotheses?
DBEedef 66 Vb o H68°s a’gcgéam,gf’é ?bm;oéainméa esbSdoh

@ﬂiﬁmzﬁmé P CDERD.

Options :

1. %



Descriptive research
égmééé ot ity

Exploratory research
@55ﬁmﬁé&§ 568855

Experimental research
{fﬁﬂmﬁr’ﬁ&é $508%5%

CQluantitative research
;flag]}‘:‘ﬂ'&'l'“é[&é éﬂéﬁcﬁé
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Positivism in research emphasizes:
568G §rei)E BAD esosHdy

Options :

Subjective interpretation and personal beliefs
oE(Eagdhd HDdm, ENS Jaysten

1. %

The importance of intuition and gut feelings

- ©0868)8), @olEsne Do (RS



The use of rigorous scientific methods to uncover objective truths

DB Vered) 308 Eaiwrd® EB5DHD QoD HPHe BHERKED
3. %

The rejection of empirical evidence in favor of abstract theories
SSoeg cEC-C};DEjO wingroonr, @igrds 'ﬁv%&& QDoeEBochés
4, #
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What is the first step in the research process?
58885 [gﬁ[_%@ﬁatﬁﬁ S0t @Hih 8

Options :

Data analysis

. Saeod BN
1.

Writing the research report
H568°5% BEFY (Erakn

Formulating research questions or hypotheses
568555 Do, HdBKeH S| B%80:56

Conducting a literature review
(o ﬁg‘ué Dsne
4. %
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The appendices section of a thesis includes:
2.& HOEES g edogre Dertiodt ond sothd

Options :

The acknowledgments and dedication pages
8D, @oBSoiahn nden

A list of all the tables and figures in the thesis
?’\:ngoeté aoéﬁa’mﬂéﬁ é@éﬂ, ®08e) &oi)ar

Extra information, such as data tables, survey forms, or supplementary
materials

Herod ﬁ@m, éﬁrﬁé groren, ol ®oFen Hod) ofl Sdrortan

A detailed description of the research methodology
588855 583 D DDBes
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How does ICT impact research dissemination?
ICT $588°5a o) 2 QtnHod (Hegrdo Lrshod

Options :



It limits research dissemination to local audiences only
508 a5ad SIS (58808 HBEo THod

It enhances research dissemination through online platforms, social
media, and open-access journals
©BS8S JbBen, FHrEY HrgiEvas, [Hadin 85D &X) J|B8en woe

568550 a5 arheod
2. ¥

It replaces the need for written research reports
HB8°ES s B wBioeR) 8 Bod

3. %
It discourages researchers from sharing their findings with others
$588°5%en weEm EiP)B adhobH ©obosod® e HHinod
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Note: Answer the questions 11-15 by reading the following passage:
HaE: 1808 @ £2360) AP0 SO0 Q. 11 aD0G Q. 15 [234) ©8) ASrTraren

|°0006.

The investigation of the geology of all the places visited was far more important, as
reasoning here comes into play. On first examining a new district nothing can appear
more hopeless than the chaos of rocks; but by recording the stratification and nature of
the rocks and fossils at many points, always reasoning and predicting what will be
found elsewhere, light soon begins to dawn on the district, and the structure of the
whole becomes more or less intelligible. | had brought with me the first volume of
Lyell's ‘Principles of Geology,” which | studied attentively; and the book was of the
highest service to me in many ways. The very first place which | examined, namely St.
Jago in the Cape de Verde islands, showed me clearly the wonderful superiority of
Lyell's manner of treating geology, compared with that of any other author, whose works

| had with me or ever afterwards read.
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The author is interested in the study of
B5owed oixchdon odf BDA Gab.

Options :

Environment
étﬁ;géff}sao

rocks and fossils
feen 00 Seweren

nature
258

minerals
BeleIeen)
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On his first investigation, he finds the rocks very

ESows B°F (groso HosBjodsd o) 1800 Sraed.
Options :
disorderly

pwd s 5
v @ﬁé@ﬂcm &y 0]

disturbing
B8 2E



welcoming

e BoS
3. i@ ol
inhospitable
_ e3tiBodR)
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The phrase- ‘light soon begins to dawn’ means
‘e‘.ﬁ&ﬁﬁtﬁﬂ JentH (D608 ®@08

Options :

day-breaks
Beaieod

Sun shines brightly
Jengtd seddodorr Hse 8

clarity emerges about the situation
2008 2 ad SHob

daylight begins
, 2N Sentd [ePBodisnay) o
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The author finds the book, ‘Principles of Geology’ as most
BSowd FREE B Grj@een DB @0 B HBRHR.

Options :

exemplary
Elatel(Lvlen Y

imperfect
©0FPBHD

mediocre
etz v

inferior
RSB
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Mr. Lyell is an/ a
SHH6 OAHS 2.8

Options :



Geophysicist

ﬁﬁy%ﬂhﬁg
1. % P
Author
> % BeSomes

Geologist and author
3 ¥ e-;i,méjwmaﬁ a&@éé s0Bdsn Bdomne

explorer
4 % @3‘@&@
Sub-Section Number : 3
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A communication prevents misunderstandings and helps in
establishing a constructive relationship.
§Eﬁ].‘}§§)é§:,5 @}é)vtg@éj Qw808 Hbain R}Uuéaamééé Slesalelng)]

5:1@@%{5065 Shvevialastvlelal

Options :
positive
RN

1.+



passive
R(apad

reflective

&3S w558 &raS
3. %

retentive

oedes 48 He
4. %
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Being in communication helps in establishing credibility as a
professional
BrRiss Edmd8nss? e &0te0 58 &ﬁgﬁ}ﬁ) &850 5{;3)0{560&5’5

FSES ey s ln3ls 3eln)
Options :

reserved
abSgray

confident
é&f)}éé o)

soft spoken
{)}Ej,iﬁnwﬁq



indifferent
abhie
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Classroom communication is effective only if the teacher is
GarEEgained SEK8 K6 éa")]]é@éﬁg D#ddosorr sotnod

Options :

emphatic
5“%&,&’)9&5%@

empathetic

FeHB e s eownas
2. ¥

gentle
%‘}5’3335&3 o
3.
loud
KB DS
4, % "o
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Usage of can be avoided in inter cultural communication to steer
clear of misunderstanding and ambiguity
©088 [Sop8 Hogriedt, B erEssHe Hob @c?mgo B0ty @S0

DarBoNasRD.
Options :

translation
@070

non -verbal communication
Eﬁ%’c@é R OEPSIEs

accent
A

jargon
DBgeD
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One of the important forms of traditional media is

Po[RERad HrgsEvo Ging) Hngghd Srarerdd 2. 58

Options:

Theatre and drama

|, Bolineo snbdin o
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Newspapers
SPTR)(SBEen

MNovels
3 % QDO

journals

4% H(B8en
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6, 8,19,61,249,
Options :
1249

1. %

, % 1261

3 ¢ 1251

4 % 1256
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ABFL, BDLX, CFRJ, DHXYV,
Options :

EICH

1. %

EJDI

o EJDH

FICH
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In a certain code language if the word SOLUTIONS is coded as SNOITULOS,

then the word ANSWER coded in that language is

2.8 D0 §5 272 SOLUTIONS &7 3¢50 SNOITULOSTF 86 T0H068, & 276>
ANSWER §'& Sohatcd 980

Options:

. RENSWA

, » RENSAW



REASWN
3. #®

4V REWSNA
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The cost of 3 pens and 21 pencils equal to the cost of 5 pens and 7 pencils. The

ratio of the cost of a pencilto thatofapenis

0000 BAW 21 DRID) GG 5 0N €0 DO 7 DRID ) OOE MAFNO.

0O A DHOAW D) OO A ed

Options :

4.« 17
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An A.C. is purchased for Rs. 55,000 and sold it for Rs. 44,000. The loss

percentage is__
2,8 DA &, 55,000 §R) SO0 T E5°. 44,000 €920 TR IR0 FTHO
Options :

15%

25%

20%
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Statements:

Some gold are silver.
Some silver are bronze.
Mo bronze is iron.
PSLTATNBYS
§0ed 20md0 0.

5 Ha3eren 5°0o050.
070 @0T) @D 5°¢0.

Conclusion:

I Some bronze are gold.

Il Some iron being bronze is possibility.

1. Some iron being gold as well as silver is a possibility.

ST Re:

L §Q)) sroarreen 20rH0.

II. 5065 Qe OO S0R 995740 G0,

IIL. §°0¢% R0 220MTHOE e I0d $0 G SOB e9S95H0 S0 d.

Options :

I and I follow
I s000 I 293000

T follows
I e9:50a0050e0

I and T follow
I s0G0 OI &900m00T00

I follows
I 20O 0T
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In a class of 80 students 30 students like tea, 35 students like milk and 25
students like coffee. It is also known that 15 students like both tea and milk, 17
students like both milk and coffee and 14 students like both tea and coffee, 9
students like tea, coffee as well as milk. The total number of students who like
neither tea nor coffee nor milk?

80 0B DTsen) TR, 30 06 e ¢3, 35 206 Few, 25 oA
SR BRIGESD. 15 0O doredden 63, e, 17 208 doesden Frew, Shew,
14 508 Doesden 63, shen, 9 008 drTshen 6 50, Sren &) . ¢,
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Options :

1« 27

3 % 10

4. %
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How is my father's father's only daughter-in-law’'s brother related to me?
AT YT ) 10 2.5 eTE), O e8:500338 7050 020850 abe3?

Options :

Father
®

> w Paternal Uncle



3 ¥ Maternal Uncle

4 % Cousin
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The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indeterminate) is made with respect to which of the following pramanas?
JsrE (ABAird)Eo) Bain ABEenE fé'\}ggé_) gl gm0 &8 (Bob

TBE O 558 Bohadod

Options :

Anumana (inference)
1 % @iare (modaer)

Pratyaksa (perception)

558 (08reaed)

Arthapatti (postulation)
o858 (BEDS)

Upamana (comparison)
G0drd (590%)
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Consider the following statements and choose the right option

BI0% YSDoSed H6KHEE"S B:nE%08 Hban IBK @S J0HS ol

(a) Middle term should be distributed in atleast one premise
Ho555°0soR) 800 28 [Hi5haHos’ Hodd Foird.

(b) Middle term should be present in the conclusion
SmA0HE gy Do &owed.

(c) Both premises can be particular in a valid argument
Beparen oy FE8S° Both ([Habairen W erslelg - Telat N

(d) Both premises can be negative in a valid argument
Denerén @o"foé 5560 Botd (Hahoiren (Ha%roomr olelatatnnl
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(c) and (d)
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F
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. (®)and ©
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Question Label : Comprehension

Note: Answer the questions Q. 31 o Q. 35 on the basis of the information given below.
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The line graphs give the sales and expenditure of a company across five years.

starting from 2010. The value of both sales and expenditure for the year 2010 is

indexed to 100. It is known that the profitin 2012 was Rs. 1 cr.
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In at least how many years did the company make a profit?

T O LT 4 = '-_\-6 =
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Options :

—
b5
]
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In which year was the profit the least 7
D H0X B80S @8 853 0 SDI0E ?

Options:

| % 2010

2012

2014

Can not be determined
QGOS0 ardd o 520
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In which year the percentage income in sales is highest?

b gt 7o o6 ZE 3 d X s
o) OB IO0E) 5O v EGE FToH0 SN0 0 ?
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1.« 2011

2012

2014
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If the sales of the company in 2010 was Rs. 250 cr. Then what was the profit in
2013
&

(2] = i A N (ay]
201065 $0 AEairen &r. 250 S0 e3¢0 201365

27230 o)0e8?

Options :

| % 86Cr



108 Cr
L

114 Cr

141 Cr
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What was the approximate percentage decrease in profit in 2012, when

compared to 20117

20118 FOR 201285 erB0eS H5rt o8 o Shod ?
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What is the full form of 'GIF' ?
'GIF' {8 arsoabéd ?

Options:

Global Internet Format

“ Global Interface Format

Graphics Interchange Format

Graphical Interface Format
4, =
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What is the primary function of an IP address?
IP Dharse e 06 db ?

Options :

To identify a device on a network
| o OS5 &8 HOEo rhBoibe



To store WebPages
35 Do PH Do
2. % i

To process email messages

3 % BEDOVED TPBORD 20D

To encode video content
4 % DB DHAITY) ISWH Daswe
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SWAYAM PRABHA is a group of.............
xaho(E)Es Al GIo%) Hakesiean

Options :

30 DTH channels
30 &&3rS mﬂ@

40 DTH channels
P 40 &&32rD anvé;g

60 DTH channels
, 80 E&TrD cﬁﬂﬁ(@

80 DTH channels

80 &3S anﬂéag
4. #
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Which of the following ICT initiatives of MHRD deals with E-governance for institutions
[ Universities?
0. 270.090.6 @Bo¥) & B avd P oo DE dugocire

20200802:9).

Options :

SWAYAM

1. %

. SAMARTH

3 » VIDWAN

IRINS
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What does the term "Wi-Fi" stand for?
'B2" eidre I ?

Options :

Wide Frequency

& —
1w 26 @S



VWireless Function

, x 2685 o5

Wireless Fidelity
3685 HE0S

Wide Functionality

4% 36 Hogr0d

Question Number : 41 Question Id : 5171449327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which year was the United Nations Commission on Sustainable Development
(CSD) started by the UN General Assembly?
@Oéﬁ[gé@ﬁ] Frde ©08) &% Bod H05&)80& QBB fdn @oéocgéoﬁ)

€t (r8ododob.

Options :

| o 1992

, s« 1993

5 % 1994

1995
%
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Which of the following is not a negative impact of urbanization on the
environment?

TEHGe0st, S IS @odhn E’}%E%éét&?._} amed)E (Hgreo s

Options :

Deforestation
&8 &ﬁ?&ﬁ}é

Pollution
513@:::{}50

VWaste recycling
sgre 5o

Loss of biodiversity
ézﬁ@ﬁ]r‘,ﬁg EG%E}J
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Which of the following gas is more in percentage in the air?
mhHed )85 Fosod 63)) A0y 2080 ?

Options:

1.



Oxygen Gas
e98yezdo

Nitrogen Gas

S e
2. %

VWater Vapour

3 % N8 =96

Carbon Dioxide Gas
ﬁ’ﬁg SENFD A0
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Why biogas is considered a ‘'good’ source of energy?
a@rTod el Hodds SSHhmr Jdothded HBNETH

Options :

as it produces ashes
08 ardtd 683 35708

as it produces methane

, x ©0 DI 653 Txnod

as it burns without releasing smoke
©b &K BHowe otHEHod



as it decomposes in the absence of oxygen
sdzS 58 4ok Sfdod
4. %
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What is objective of the Paris Agreement/Accord?
00 atonlE/ D58 ang) oFgEm

Options :

Decrease Global Warming below 2 degrees Celsius
1235305 ﬁéé}é&}?ﬁ} 2 &lfio DEHHD HIHHSH ShoHe

Decrease Global Warming below 3 degrees Celsius
Do SeEp 3 Glhe DSHEDD BIDHDH Shoes

Decrease Global Warming below 1.5 degree Celsius
20 ééé}é&}@ 1.5 Blfieo DoHchh HIHDHdH eﬁﬁotﬁm

Decrease Global Warming below 1 degree Celsius
$550%8 gt 1 &lfe DSHEHD BIDSDH Shodé
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Under whom, Nalanda was greatly ransacked by the army of Mamluk dynastic of
Delhi Sultanat?
&8 Ders @ng) Srdel S8 o 58 HBarORE® Soomr JEHP

oirentob.

Options :

. Chandragupt Maurya

Aurang jeb

3 ¥ Bakhtiyar Khiliji

Allaudin Khiliji
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The main governing body at the tertiary level of education in India is....
zobair dagBort éej@dﬁ} ﬁ;méﬁ g B o“’:ro;’m:

Options:

NCERT

, » CBSE

AICTE



UGcC
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Which of the following is an example of conventional learning programme in India?
& 6193 6 OB mobairE” FoRrehE wgrlE amrirdn

Options :
Yoga
1% ai
Fine Arts
e B¥en
2. #®
Agriculture
o T
3 ¢ Sgdarchan

Fashion Designing
RS ErH8ed
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One among is not a Core Critical Thinking Skills
aothed 2. ¥ 08)g Lol et Jedeagiin 5oth

Options :

Interpretation
DG

Analysis
D3es

Self-regulation
f&é{:‘ﬁj fcho|gbes

Self esteem
«?_aéé faldstle
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The main objective of teaching at Higher Education Level is.....
S8 &mﬁgﬁgméﬁ &85 GBng) Hngy ©F;En

Options:

To prepare students to pass examination
Samugifg@c‘(:o ééé@ﬁ ﬁ@;eﬁnﬁmmmé SSSrthdcing

To develop the capacity to take decisions

ABcHo HHT $8D 50 Dc%ned
2. B —= ]



To give new information
8¢ Samardo s

®
To motivate students to ask questions during lecture
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A television programme of film based on the facts of the life of a person is
called:

Options :

_— Docudrama

Feature

3 ¢ Biopic

o Documentary
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The mathematical ratio between the vertical and the horizontal
measurements of a film/video is referred to as:

Options :

Format ratio
1. %

Size ratio

3.« Aspect ratio

Frame ratio
4, %



Question Number : 53 Question Id : 5171449339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The community radio concept is identified with:
Options:

Personal casting

Broadcasting
v

3 % Podcasting

Narrowcasting
4, ®
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The up and down movement of camera on vertical axis is known as:

Options :

1 ¢ Tilt

2 % Zoom



3 % Tracking Shot

Passing Shot
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Narrow=-casting has a:
Options :

1 % Non-geographical audience

2 « Specific audience

3 % Massive audience

Mass audience
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AFP is the abbreviation for which news organization?

Options :



1 = Associated French Press

> % American Free Press

3 « Agence France Presse

4 % American Federal Press
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In SMCR model of communication, the letter M stands for:
Options :

Message

1.4

5 % Means

Medium

4 % Mode
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ASCI stand for...

Options :

1« Advertising Standards Council of India

Advertising Scheme Council of India

2. %
3 % Advertising System Corporation of India
4 % Accounting System Council of India
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The Prasar Bharati Act came into force in the year

Options:

1992

1. %

5 % 1995

5 % 1996
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In DAB, what does the letter ‘A’ stand for?

Options :

1 = Asterisk

2 « Audio

5 » Antenna

Automatic
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is called the magic multiplier?

Options :

1.« Mass Media



, x Food Chain

, » GDP

4 % Happiness Index
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Who is known as the father of Panchayati Raj in India?
Options :
Mahatma Gandhi

1. #

Balwant Rai Mehta

3 » Lord Ripon

4 % Babu Jagjivan Ram
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Correct Marks : 2 Wrong Marks : 0
Which organization launched the initiative of e-Choupal?
Options :

1@ ITC

, x lata

3 % Reliance

4 % Gautam Adani
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Which act makes CSR mandatory in India?
Options :
1% Corporate Act

> % Commercial Act

3 % Organization Act

Company Act
4 pany
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What is the meaning of Unilinear?

(1)  Consistently Developing
(2)  Single Path Development
(3)  Steady Path Development
Codes:

Options:

Only 1 is correct

. Only 2 is correct

1 and 2 is correct
3.

4V 1.2 and 3 is correct
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Who coined the term “Fourth Estate”?

Options :



Charles Marian

> % James Bryce

3 Edmund Burke

Thomas Jefferson
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Morgue is?
Options :

1% Photo achieve

> News library

3 % Back volume

4 % Printing machine
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‘Chief Minister resigned’ is an example of:
Options :

Summary Intro

5 % Common Intro

3 % Question Intro

4 Bullet Intro
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Mandatory deadline for the release of a story is called:
Options :

Embargo
1.¢

, % Hold

3 % Scoop



4 % Release
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Crystallizing public opinion was authored by:

Options :
1 % Berlo
> x Aristotle

3 « Edward Bernays

Black Sam
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Which section of IPC defines the offence of defamation?
Options :

408

1. %



409

2 %
3 % 489
4.« 499
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Four Theories of press is conceived by:

Options:

1« Wilbur Schramm

5 % J Carey

3 % Dennis McQuail

4 % Marshal McLuhan
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Folio line gives details of:

Options :

Page Numbers

5 % Company Details

Index of Stories

Editorial Staff
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

National Press Day is celebrated on:
Options:

1. % October 21

November 1
F

3 MNovember 16

January 7
4, %



Question Number : 75 Question Id : 5171449361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a hierarchy of effects or sequential model used to explain how
advertising works:

Options :

| v AIDA

5> % ADD

PESILE

4 % SWOT

Question Number : 76 Question Id : 5171449362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Dividing the market based on age, income and educational qualification is
known as:

Options :

1 % Profile

5 Demography



3 % Targeted Group

4 % Census

Question Number : 77 Question Id : 5171449363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Any device or word that identifies the origin of product, the manufacturing
details etc is known as:

Options :

Trade Name
’|. E

Brand Name
S

3 « Trademark

4 % |dentity

Question Number : 78 Question Id : 5171449364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Infomercials are designed to solicit a direct response which is
and are, therefore, a form of direct marketing.



Options :

1@ Specific and Experimental

5 % Persuasive

3 % Advertising

4. % Marketing Ethics

Question Number : 79 Question Id : 5171449365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Copywriting is the act of writing copy for the purpose of selling or
marketing a business, or idea

Options :

Price

2.« Product

Material

4 % Concept



Question Number : 80 Question Id : 5171449366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Series of messages that divide idea and theme which make up an
integrated marketing communication, is known as?

Options:

1 % Advertising

5 % Advertising Research

3 « Advertising Campaign

4 % Product Placement

Question Number : 81 Question Id : 5171449367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Handwritten posters in the sixteenth and the seventeenth century which
are considered to be the forerunners of advertising are:

Options :

1. % Pamphlets

5 Siquis



% Billboards

4 % Brochures

Question Number : 82 Question Id : 5171449368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Printed matter that runs over the edges of an outdoor board or a page
leaving no margin is known as

Options :

1 « Bleed

2 % Solus

3 % Broadsheet

4. % Classified

Question Number : 83 Question Id : 5171449369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Placement of advertisements inside or outside transportation vehicles is
known as

Options :



Aerial Advertising

Outdoor Advertising

3 « Transit Advertising

Classifieds

Question Number : 84 Question Id : 5171449370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Letters, folders, reprints, or other material sent through the mails directly
to prospective purchases is

Options :

Direct Mail Advertising
1.4

5 % Instant Mail Advertising

3 % Retrieve Mail Advertising

4 % Spam

Question Number : 85 Question Id : 5171449371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

is an elaborate booklet usually bound with a special cover.

Options :

1 = Leaflet

2« Brochure

3. ® Pamphlet

4. % Hoarding

Question Number : 86 Question Id : 5171449372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Sponsoring educational and literacy programs, staging open houses and
conducting tours improve:

Options :

1 = Financial Relations

2.« Community Relations

3. # Government Relations



« Media Relations

Question Number : 87 Question Id : 5171449373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

theory is another way to look at how people process and
accept information

Options :

1 % Social Exchange

>  Situational

3 % Systems

4 % Diffusion

Question Number : 88 Question Id : 5171449374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

is the overall estimation in which an organization is held by its
internal and external stakeholders based on its past actions and probability
of its future behavior.

Options :

. Corporate Logo



> % Corporate |dentify

3. % Corporate Design

4. « Corporate Reputation

Question Number : 89 Question Id : 5171449375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

If the statement is written and published, the defamation is called
Options :

1.« Slander

5> % Libel

3. % Copyright

4. % Piracy

Question Number : 90 Question Id : 5171449376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



is a page on company’'s website that contains resources and
information for reporters and publishers.

Options :
RSS

1. %

2 % VNR

5 v Media Kit

4 % VNR

Question Number : 91 Question Id : 5171449377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

uses the economic metaphor of costs and benefits to predict
behavior.

Options:

System Theory

Situation Theory

3 % Diffusion Theory

4.« Social Exchange Theory



Question Number : 92 Question Id : 5171449378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

is the oldest form of public relations.

Options :

1 % Two-way asymmetrical

2 % Two-way symmetrical

3.« Press Agency

4. % Public Information

Question Number : 93 Question Id : 5171449379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

An organization with a more favorable prior reputation will still have a
stronger post crisis reputation because it has more to spend
than on organization with an unfavorable or neutral prior reputation

Options:

1 « Reputational Capital

) % Capital



3 % Resources

. Money

Question Number : 94 Question Id : 5171449380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The first step in organizing employee communication is i
Options :

v Taking a close look at the organization and its structure

2 # ldentifying tools and tactics

3 % Developing and implementing plan

4. % Measuring the effectiveness of the communication plan

Question Number : 95 Question Id : 5171449381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
is the main role of corporate communication with respect to

brand
Options:



1 = Recognition

Loyalty

Value

Positioning

Question Number : 96 Question Id : 5171449382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The Copyright Act came in the year

Options :

1 % 1954

, o 1957

5 % 1958

1963

Question Number : 97 Question Id : 5171449383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
Official Secrets Act was enacted in the year

Options:

1 1923

5 % 1933

3. % 1943

4 % 1953

Question Number : 98 Question Id : 5171449384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Defamatory (false and injurious) written statements or material including
movies or photographs is called:

Options :

|  Libel

2. % Slander

3. % Lien

_ MNone o f the above
4. %



Question Number : 99 Question Id : 5171449385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Press is subject to the restrictions that are provided under the Article
of Indian Constitution.

Options :

;o 19(1)

, v 19(2)

5 % 19(3)

4 % 19 (4)

Question Number : 100 Question Id : 5171449386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

refers to the order a court issues so that it can review the
decision and proceedings in a lower court and determine whether there
were any irregularities.

Options :

1@ Certiorari



¢ Caveat

3 % Appeal

None of the above

Question Number : 101 Question Id : 5171449387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The methodology of communication although has changed and dispersed
in numerous directions based on the source of its impact.

Options :

Socio-cultural
1.9

5 % Modern Culture

3 % Inactive

4. % Agriculture

Question Number : 102 Question Id : 5171449388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

Propaganda is commonly created by , but some forms of mass-
communication created by other powerful organizations can be considered
propaganda as well.

Options:

Public Sector

5 « Governments

3 % Local

4. % Judiciary

Question Number : 103 Question Id : 5171449389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The first major newspaper in India The Bengal Gazette was started in

Options:

1.+ 1779

, % 1879

3 % 1929



5 1939

Question Number : 104 Question Id : 5171449390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

is the function of management which follows planning. Itis a
function in which the synchronization and combination of human, physical
and financial resources takes place.

Options :

1 % Performance

> % Preparation

3 % Persuasion

4.« Organizing

Question Number : 105 Question Id : 5171449391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

TRAIl stands for

Options :



1w Training Rural Achievement India

> % Telecom Regulation Advertising in India

3 ¥ Telecom Regulatory Authority of India

4 % Teaching Radio Act India

Question Number : 106 Question Id : 5171449392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Keyword optimization is the act of researching, analyzing, selecting the
best keywords to drive qualified traffic to your website.

Options :

1 & True

2. % False

3. ® Maybe

4. ® May Not

Question Number : 107 Question Id : 5171449393 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
What is the full form of PPC?

Options :

1. = Per Pay Click

5 « Pay Per Click

3. % Prize Per Click

4 % Price Per Click

Question Number : 108 Question Id : 5171449394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

VPN stands for...

Options :

1 Virtual Private Network

, % Very Private Network



% Voice Protocol Network

4. % None of the above

Question Number : 109 Question Id : 5171449395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Bitmap images are made of...

Options :

1. % Pictures

2 % Pixels

3 « Lines and Curves

4. # None of the above

Question Number : 110 Question Id : 5171449396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Magnetic Disks are also known as...



Options :

1. ® Compact Disk

2 % Soft Disk

3.« Hard Disk

4. ® None of the above

Question Number : 111 Question Id : 5171449397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
TAM is

Options :

1. Television Audience Measurement

> % Television Air Marketing

3 % Tele Air Marketing

4 = Television Audio Measurement

Question Number : 112 Question Id : 5171449398 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In video editing the first work is

Options :

1 % Timeline

>  Capture

3. # Shorts

4 % Dump

Question Number : 113 Question Id : 5171449399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first edited version of a TV programme which needs further polishing
and corrections before the actual broadcast is called as

Options :

1.« Rough Cut

2. % Match Cut

3 % First Print



4. % Rushes

Question Number : 114 Question Id : 5171449400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Generation loss is most minimal in

Options :

1 % Linear Editing

> % Assemble Mode

3 % Transferring

4. v Non-Linear Editing

Question Number : 115 Question Id : 5171449401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

In which area is digital technology superior to analog technology?

Options:



1. % Signal to noise ratio

> % Frequency response

3. ® Dynamic range

4.« All of the above

Question Number : 116 Question Id : 5171449402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A signal to an anchor or presenter to start talking or begin his action is
termed as

Options :

1 % Command

2. « Cue

3. ® Order

4 % Cal

Question Number : 117 Question Id : 5171449403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

theory of media effects suggest that TV portrayal of violence
reinforce whatever established pattern of behavior, viewers bring with them
to the media situation.

Options :

1 % Catharsis

> #% Aggressive Cues

3 Reinforcement

4. # None of the above

Question Number : 118 Question Id : 5171449404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

is a branch of philosophy dealing with nature of beauty, art,
and taste and with the creation and appreciation of beauty.

Options:

1. = Design

. Aesthetics



3 % Glamour

4. ® Psychoanalysis

Question Number : 119 Question Id : 5171449405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Red, Yellow and are primary colours.
Options :

1.« Blue

> % Black

White

4. % Violet

Question Number : 120 Question Id : 5171449406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a problem associated with survey research.



Options :

1. % The problem of objectivity

> % The problem of 'going naive

3 « The problem of omission

4 % The problem of robustness

Question Number : 121 Question Id : 5171449407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which form of data below can usually be obtained more quickly and ata
lower cost than the others?

Options :

1 = Survey Research

2.« Secondary Data

3 » Primary Data

4 % Data from online Marketing Research



Question Number : 122 Question Id : 5171449408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A research hypothesis can take either

(1) Declarative form
(2) Null form
(3) Question form

Codes:

Options:

1 only

’I_bé

5> % 2only

3 % 1and2only

4w 1.2and3

Question Number : 123 Question Id : 5171449409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following best suits 'Action Research'?

Options :

1 « Itis an applied research



> % Itis a quantitative research

3 % Itis a survey research

4 % Itis a population research

Question Number : 124 Question Id : 5171449410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

What is the full form for IRS?

Options :

Internal Revenue Service

> Indian Readership Survey

International Readership Survey

. Individualized Research Study

Question Number : 125 Question Id : 5171449411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Suppose you are doing a survey in which sample quality and precision are
of utmost importance and you need to ask some critical open-ended
questions. Which survey mode would work best?

Options:

1 « Face-to-face Interview

> % Telephone Interview

3 % Mail Questionnaire

4 % Mixed mode combining telephone interviews with a mailed questionnaire

Question Number : 126 Question Id : 5171449412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Research problem is selected from the stand point of?

(1)Researcher’s interest
(2)Financial support
(3)Social relevance

Codes:

Options :

1 = 1only

5> % 2 only

3 % 1 and 2 only



4 v 1.2and 3
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Which of the following is not a transition?

Options :

Fast Zoom
S

2 % Fadein

3. ®» Fade out

4« Zoom
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Who is often referred to as the Father of Cinema?

Options :



1 % Kuleshov

5> « Griffith

3. # Eisenstei Eisenstein

Hrishikesh Mukherjee
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The technique of making transitions between shots as unnoticeable as
possible is called

Options :

1 = Mise-en-scene

> » Segmentation

3 » Dramatic unities

Seamless editing
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A shot makes a character look less powerful.

Options :

1 % Subjective Shot

> High Angle Shot

3. # Low Angle Shot

o Perspective Shot
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What is Syntactic?

Options:

1. # The study of language in use

5  The study of relationship among words

3. # The study of human interactions



4% The relationship between words and sentences
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According to the ‘Global Village' concept of Marshall MacLuhan
Options :

1 & Electronic media can help the masses to effect change

> % Maintain person to person relations

3. # Most of new technologies make people scattered

4w Electronic technolegies would not be able to enlighten the masses
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Under which set of models does Rostow's stages of growth is included?

Options :



1 % Uni-linear

> % Non uni-linear

3 % Non-linear

4.+ Linear
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In which of the following paradigms, the idea of free market is suggested?
Options :

1 % Mainstream Paradigm

> o Counter Revolution Paradigm

3 % Dominant Paradigm

4 % Populist Paradigm
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Any paid type of non-personal promotion and presentation of goods,
services or ideas by an identified sponsor is:

Options :

1 = Sales Promotion

> w Direct Marketing

3 % Events and Experiences

4 Advertising
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People-to-people oral, electronic or written form of communications that
associate with experiences or merits of buying or using services or
products is:

Options :

1% Interactive Marketing

Direct Marketing
2. %



3 % Personal Selling

4 Word-of-mouth Marketing
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Leader writer is the one who writes the

Options :

1w Main story

> % Middle

3  Editorial

4. % Edit-page Article
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is a detailed account of the coming event.




Options :

1 » Feature story

5> » Advancer

3 @ Curtain Raiser

4. # Advance
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is a deliberate attempt by PR practitioners to influence the
public.

Options :
1 = Publicity

> % Propaganda

3 ¥ Persuasion

4. % Pseudo Events
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Diffusion theory has discrete steps.

Options :

1.« Five

5 % SIX

, «» Eight

4 % 1en
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To improve the standard of news agencies and Newspapers
was reconstituted.

Options :

1.« Press Council

> % Wage Board



% Press Forums

4. % MNone of the above
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Jurisprudence means?
Options :

1« The topical area of the science of law and societal order

> % Alegal scholar

o Judicial System

4. % None of the above
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A is a short tune used in advertising and for other commercial uses.

Options :

1 % Teaser

2.« Jingle

3 » Commercial

4. % Spot
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The Press Institute of India PIl is an independent nonprofit organization
founded in

Options :

1955

5> @ 1963

5 % 1985

4 % 1989
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Tim Berners Lee is associated with:
Options :

1 ¢ World Wide Web

> w» Arpanet

3. % Hypertext Editing System

4 % Personal Computer
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As products of mass culture, movies reflect...

Options :

1 % Cultural Attitudes

2 % Trends



3 % Concerns

All of the above
4.
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Who is known as the first lady of Indian Cinema?

Options :

1 = Nargis Dutt

2 Devika Rani

3 % LaxhmiRai

4 % Bhanu Athaiya
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In communication, words are not used in the process of sending and
receiving messages.

Options :

1 % Verbal

5 « Non-Verbal

3 % Prosody

4. % Oculesics
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The information, which is transferred, has to be interpreted by the receiver,
This process of interpretation is known as __.

Options :

Feedback

5 % Transmitter

3 ¢ Decoding

4 % Channels
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Who propounded the concept of two step flow theory?
Options :

v Katz and Paul Lazarsfeld

> % Joseph Klapper

3 % Shannon and Weaver

Aristotle
4, %



